>Model TX

AR AYRENR THAAY, RAZNE 5 4%IE

A 2glo A,

YT PR Brdo] L To 4% A7k,

HS 5+ P67
TXH : IP60(UA =)

Tension Load Cell

Z-E

F

B
C_ 043
|
2
|
X

g

<=

WIRING INFORMATION

— RED v

BLACK, 516 (+)

WHITE, ExC (-)

GREEN, g1 ()

BARE SHIELD

>SPECIFICATIONS
= TXH TXM TXG
2 82HR.C) 1tf, 2tf, 3tf, 5tf, 10tf, 20tf 100kgf, 200kgf, 500kgf, 1tf, 2t 3tf, 5tf, 10tf, 20tf | 100kgf, 200kgf, 500kgf, 1tf, 2tf, 3tf, 5tf, 10t 20t, 50t 100t
4 £8(R0) 2.0mV/V£0.1% 2.0mV/V£0.1% (50tt~500tf 1.5mV/V) 2.0mV/V£0.1% (50tf~500tf 1.5mV/V)
H|ZIZIA 0.02% of R.O. 0.05% of R.O. 0.1% of R.O.
S| AHIZAA 0.02% of R.O. 0.05% of R.O. 0.1% of R.O.
o= 0.02% of R.O. 0.05% of R.O. 0.1% of R.O.
A diA +1% of R.O. +1% of RO, +1% of R.O.
S50 28 0.03% of LOAD/10C 0.03% of LOAD/10C 0.1% of LOAD/10C
G| 2r R 0.03% of R.0./10C 0.03% of R.0./10C 0.1% of R.0./10T
2 HAHS -10~60C -10~60C -10~60C
58 2=HY -20~80C -20~80C -20~80C
FEDSEY 350+5Q 350+5Q 350%5Q
ECRSEY 350+5Q 350%5Q 350+5Q
HA g 5000MQ 5000MQ 5000MQ
N 10V 10V 10V
ol8 ot 150% 150% 150%
AHols Zo| @7mm 4core, 3m @7mm 4core, 3m @7mm 4core, 3m
>DIMENSIONS TABLE unit:mm
Capacity @A B @c D = F G @H Weight(ke)
100kgf (980.7N) 88 107 50 118 M12x1.25 DP15 4 25 24
200Kkgf (1.961kN) 88 107 50 118 M12x1.25 DP15 4 25 24 3
500kgf (4.903kN) 88 107 50 118 M12X1.25 DP15 4 25 24
1tf (9.807kN) 88 107 50 118 M12X1.25 DP15 4 25 24
2tf (19.61kN) 88 150 66 118 M24x?2 DP30 5 42 30
3tf (29.42kN) 88 150 66 118 M24Xx2 DP30 5 42 30 )
5tf (49.03kN) 88 150 66 118 M24x2 DP30 5 42 30
10tf (98.07kN) 137 220 66 167 M39x2 DP50 8 65 62 1
20tf (196.1kN) 137 240 66 167 M50%2 DP65 8 75 62
50tf (490.3kN) 213 410 130 245 M76Xx3 DP115 25 140 116
100tf (980.7kN) 267 500 192 315 M100X3 DP150 25 250 196
HEe AIS2 M5 THME 2feh olngio] HAE £ USLICE

PMHitech 25



lej
나만의 스탬프


